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B 3-3 X I AR e B 3-1 PR ALK A 1+ BT

fR. B EFE A-1EH. b=0.14,c=0. 4,2x="5,co80=0.5,tanp=1. 73

By S (L) 3-1D 0

P. = 120.5kW

i

D

EREFN IR e

P,

H
s = 7.5kW X 3+ 4kW X 2 = 30. 5kW

)qm
ot
il
P

X
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R I 32 2 (3-26) mI SR A5 HoA thil B i
Py = 0.14 X 120. 5kW + 0. 4 X 30. 5kW = 29. 1kW

NS
Q: = 29. 1kW X 1.73 = 50. 3kVar
Sy = 29 1KW o0 opva
0.5
130 — 758' ZkVA - 88. 4A
V3 % 0.38kV

Fe o) 3-1 Ffe) 3-3 (T3 45 SR T LA Hh o 4% 000 200k 11 50 1 25 31 b e 7 28 R B0t
SEMEE A R R R & G BRSO T . BRI S50 I I BRANE 2 ST 4
B0 S AR H T B R BT R A AR AR R /N DUR A S A . TR AT
i JGI/T 16— 1992¢ R AT S AR M) Mg . “HB & a8 D & RFE
A 22 R BRI R Ik

2. SARABEETEATHNHE

K FH 0 T 0 22 20 LT R 0 T AR A A B 0 0 P A 2 R R Y R R B
AN TR B R B DR 28 AR SR i A — A [) B 2R 50 T 2 7 45 20 1% & v IO v — 2 e K A )
IR P ) e s BN L 45 41082 67147 6P o P ISR A5 R 00 58 6 for

Py = D 0P+ (P (3-27)
ST T A R
Qi = D, (bP tang); + (cP.,) i tanpms (3-28)
T tangu K B KB INGUAT (P L) O 152 55 41 04 SF 25 ) 3R DRLBSCA (0 1B VDAL

B 3-4 X 3k 00 ) 3-2 BTk HLAE 48] 380V £ B 1 115 6 4 .

fi#: JoR& 4 oP. 1 P,

(D) 4@ YIHI LR

AR RER A-1, 6=0.14,c=0.4,2=5,cosp=0. 5,tanp=1. 73
[i¢ bP., =0. 14 X 50kW=7kW

cP.,=0.4X (7. 5kW X 1+4kW X 3+2, 2kW X 1) =8, 68kW
(2) 38 KM
AR A-1,6=0.65,c=0.25,cosp=0. 8,tanp=0. 75, il
bP . = 0.65 X 3kW = 1. 95kW
P, = 0.25 X 3kW = 0. 75kW
(3) HLFHA
ERRER A-1,H6=0.7,c=0,cosp=1,tanpg=0,
bP .5 = 0.7 X 2kW = 1.4kW, (P, =0
Dt v e N T RSSO S B N P B 82 = KT R
Py = (74 1.95+ 1. kW + 8. 68kW = 19kW
Qi = (7 X 1.734+1.95%0.75 4+ 0)kVar + 8. 68 X 1. 73kVar = 28. 6kVar

S'so - v 192 + 28. 62 kVA = 34. 3kVA

77



BERAHRR

[ — _34.3kVA
V3 X 0. 38kV
FeE M) 3-2 A 3-4 B H S g R n] LUE 7 A0k TR 45 R 2 R T R B0k
HHEMER ARG LR L X WG,

= 52. 1A

3.4 ZMiMERB I HEHAE

CE Eb L D DR = FH P A 224 A bl B2 19 L X g i 7 i s 174 g %6 DR 4800 3 )
THIHLE : 100kVA KL e T i P D3R A 0.90 DL b, Hofth e Jy F P Fn kL
RV HL 7 HERE 5 FE W FE B L T R B ECR 0.85 LU b, FRHLE LR BCR IR R R
1) o IO 33 VR TC T D24 T R SR FH O BOE H 7 2% R AT A2 L 3k LT 4 T 28 IR Bk, B Oy de K A
a7 Hf 2y AR

1. TN RAME

T A R RSO L S IL AL | SO RS AR I R KT A S A A A R
FA EEL T AR P AT B T A D s BRI . Q2R AE 720 R R & W ) B & s 171
Al A R A AR TR BB DL R 38 R BRI E 1) Ty R R BB R I WU R T T
DA

3-5 FRYPRF B 25 5 I Py R A AE D) P
AL SE R . TR EH cosg #2585 5 cosg’ , X Hif
TE P T HB A S & Py RN &E T Lo o R4
1 Quo Wl /INE Qo s ILAE T FRAE H Sao Jdi/NE Sho o IR ML
BUAar L oo U0 A BT 0B/ I 330 44 (1 22 495 1) Pl BE AR Tl
FEAGFEAE N A BE W29 T HLRE, AR T LR T it L
HAT S BRI R A AL R A N R B, k4R = T
R RO L R G RA AL

2. THMERE

Hi P 3-5 nl 0, Bl T R KB cose H 5 cosg’ s

U}n

WH AT B TT IR H 25 e HEAT JC D AMEE , O 40 Bl 3-5 DR AHERE SR,
Qe = Qi — Q= Py (tang — tang’)  (3-29) BLAE Dy SR AL X R
D
Qc = Aq.Psy

K. Ag.=tanp— tang, Bk N T T AN R, B b AME R AL X G I AN R, R SRR Bl
LkW B9AH R cose H#5 F| cose’ ity B A LI #ME % kVar {H.

TERAE T R AME S 1 5 o R AT AR 40 BT 8 1K L 25 4 I B 25 0 g R E LA 4148
Qe
Q(*

L T3 I 75 0 B2 28 A 250 o, X T BRLMH F 2 28 R UL N B 3 A% Bk, LAAE A B A
B, T (BZERD R T UM B LR, BT g P AN TR JE T3
o 107 11 JC Dy A2 25 0, BV A9 G T A 97 Ao o

(3-30)

n =
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Q= Qs — Q¢ (3-31)
S B A AE T T Sk

Sio = v/ Pio + (Qs — Q)” (3-32)
A 2RI LA 78 A8 o BT AR 25 38 T JC T A28 8 DL o AR 0 A 1 0 A 7
V0N 5 DT P o6 A H T = A8 T 0 2 S i 5 /N — 2, 35 A S0 AT A A1 725 v T %) 0 488 9 i EL AT ik
DTSR IF
B 3-5  FJUAE B RAR R BT R — 5 AR R AR . E AR L I R N A Dy AR £
far 650k W, LT 1155 4 faf S 800k Var, by T T A% f iy v He il (4 T R RO AR F 0. 9
UNAE AR A 25 38 O K R 25 5 AT AN T e i 2 /D A 28 i JF [l RN 5 1) A8 i BT
JIT 5 3 AR R 45 2 o A e AR 4R 7
. (1) MR BEAR R 45 19 25 5 ) R 4K
AR 25 A 7 A AE T AR
S = /6507 + (800 — 530)* kVA = 704kVA
FAFTE RS A B 551N Snr = Ssoc » R A AR HEAT I I MBI L 35 48 JE 25 25 1 o i
9 1250k VAS FME SR A-5) . BXHFAS L B AR R M 4 27 2R [R50k
cosge = 650/1031 = 0. 63

(2) TCUIAMES &

Fi 2 A8 HL T 5 FR 1) cosp=0. 9, % [E 3 48 J& & 1 T D) DR AR AQq i K T H A I
PAHE AP1, — M AQr = (4~5) AP+, [l A AR F £ A0 A A0 5 47 TG Ty A B A1 00 4P 32 )5 19
Hy 2% R BN W 755 T 0. 943X BB cosgr, =0. 92 BLAHR M Zh 2R K %y 0. 63 # R £ 0. 92, 1%
JE A0 5 26 R B O K L A AR A D

Qc = 650 X (tanarccos0. 63 — tanarccos0. 92)kVar = 525kVar

(3) FMZJE 1748 25 25 1 M ) R R4

HIME I AR TR H A ) A A TG B A

S = /6507 + (800 — 530)?kVA = 704kVA
PR MR 5 A 8 25 T B0k Sk 800KV A, HE AN 1T 25 ik /b 450k VA,
75 s A B D SRR AE Ny
AP+ 2 0.01 X S% = 0.01 X 704kVA = 7kW
AQr & 0. 05 X S, = 0.05 X 704kVA = 35kVar
A B T R AT 1 3 £ A Sy
P'yqy = 650kW + 7kW = 657kW
Qo = (800 — 530)kVar + 35kVar = 305kVar
S, = /6577 +305°kVA = 724kVA

HMEJE T BRI ECN cosg' = Pl /Sy =657/724=0. 907 , 3 L3R . H b i) a]
DL SR JHTC D w2 ok £ 155 ) 3 AR RR A L) HBUAS ml U A 22 T 48R

3. I B RFZARITE RS

FEB AT FEM E T B A GX 285G D65 N D Pooy » NIZ R R BEZR R
o P T L 2R B B A fer 2 R PR — AN TR R AR R Rk B B AT P, - X
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JE TR AR B P A A ] A2 A AR O ) SR AT Paocsy o b8 T 2 B T AR AR AP R s
HLZR B DR AR APwe o X — A R GER UL, th T AR R IC i 4 B — AR I IR e 7

i 5 TS G A7 Fop R 2 B R AR T A R AN T

Sfe 47 2580 T 0 0 605U 7 58 5 000 0 90 6 26 F (R U 00058 9 7 557

Fe e DR BFEZ A, EWI AP BT 22 H i 19 2 R B e 3% 1 30 e A 3

APt =~ (0.01 ~ 0. OZ)SPW

AQr =~ (0.05 ~ 0. OS)SCI

B 3-6  H-H I R G ah A RN A ff BOHE W E 3-6 BT, 4R IR B AR . BT
=1
AR TR
439kW—_}2li()kVaf IR0V i _J;{L {-}L
A B AR 29kW HLII T -
Q oy | PR '”{fi”r’fg?gi?* [i*?fj)kw 2 THLR20%
. SR 7 80K @ e
: M) 1% f% ELSOkW
109RW+J‘36@ L SO THURI0G
i 7 ROk W il
_“ QBI AL
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320kW+j136kVar

[ 3-6 fgur it 5 s 4 14

(1) H 13 4 4l i oy 35
JH AL
Py = 29kW, 2t 35 A-143 K, = 0. 85 il tang = 0. 75, F &
P., = KiPyx = (0.85 X 29)kW = 25kW
Q.1 = P. tan$p = (25 X 0.75)kVar = 19kVar
o I AR B A
Py = 80kW . 2 fft %% A-11% K, = 0.6 il tang = 1. 02, T J&
P., = KiPx = (0.6 X 80)kW = 48kW
Q.; = P.,tanp = (48 X 1.02)kVar = 49kVar
ML T2 (8]
EINTHLR : Py=50kW, &5 % A-1 15 K,=0. 16 fl tanp=1. 73;
PN THLUR: Py=92kW, 252 £ A-1 15 K,=0.25 il tanp=1. 33; Tz
Poy = D) (KyPy)= (0.16 X 50 +0.25 X 28)kW = 15kW
Q.s = D) (P.tang) = (8 X 1.73+ 7 X 1. 33)kVar = 23kVar
RURRIL
MEHL: Py=90kW, £ %1 K,=0. 35 fll tanp=1. 33, T /&
P., = K,Py = (0.35X90)kW = 32kW
Q.. = P. tanp = (32X 1.33)kVar = 42kVar
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(2) 17 7 e TR F A 58 671 e

17 AR BT 25 A B A (R R 0k« Ke=0. 90, T2
Poivi = Kg(Poy +Pe2 +Peos+Poy) = 0.9 X (25 +48 4154 32)kW = 108kW
Quivi = Kr(Qe1 + Q2 + Qs + Q) = 0.9 X (19449 + 23 4 42)kVar = 120kVar

Setvi = «/P(Z vt Qv = V108" +120°kVA = 163kVA
_Poivi 108
cosgr = Seivi 163 0.66

(3) AR AE P b 75 AT 5R
K P LA 45 20 4 A S B0 AR 4R b2 05 X, AN S5 D3R N cosg=0. 93,11
Qu = P.ivi(tang) — tang,) = 108 X (1.23 — 0. 40)kVar = 90kVar
A2 S S T A IR U 5 6 i D 108k W 330k Var, S. =112k VA,
(4) 7% v Jir e 0 3 55 7
17 A5 o, i 28 TR A 0 AR 4% T Ak 53
AP = 0.01S. = (0.01 X 112)kW = 1kW
AQm = 0.05S, = (0.05 X 112)kVar = 6kVar
17 5 o, i i 0 3 35 97 AR
P.uwvi = Poivi + AP = (108 4+ DHkW = 109kW
Qcnvi = (Qeivi — Qu) + AQm = (120 — 90 + 6)kVar = 36kVar
(5) 4 B8
W Tt i TR 4 R B0 - Ks =0.90, FJ2
P. = Kg(Pouvi + Peuve + Peyvs) = 0.9 X (109 + 439 + 3200 kW = 868kW
Q. = Ke(Qu.ivi + Qurv: + Qenvs) = 0.9 X (36 4200 + 136)kVar = 335k Var

S. = /PP +Q = /868" 4+335kV « A = 930kVA
__ P. 868
cosg = S. 930 = 0.93

BEZEBE 3H

3-1 WLy Gty 4l o AR EE R L 4 O far i At e L YR A A 4 Bk 2
32 L) HEESWETERNSWILZE? o fmirs®Rr ERIEMZRESERN T

V4 2
3-3 AramtE S A TR e 8 H R 2N B K R T 7 TE B A E TR B
for 5 4] S 2

3-4 W IR e T B R B I A S A AR S TRy A

3-5 TEHA AR &I AL b AT AT O DR AR R S RS LR A
A BT TS ok A T A A

3-6 HATATEHAT LI TR AMEE? W] o L AME AR B2

37 HESA A A AL T R 0 A 4 U0 R e Sl AL 2 dE Ak 800k W L 3l KA 2%
it 56kW 4B HL R R 380V, a4 S A 4% AL RN ZE (] B TS AT Pao v Qa0+ Sso Bl Tso o
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3-8 HHUBER L HARINTHLR 52 & .48 200kW; 174 1 &, 3 5. IkW(e=15%);
WL 4 & .48 5kW; SEPL 3 & .48 10. 5kW(e=65%) ., ZE[ERFH 220/380V = 4H U4k
(TN-C RGO BCHL . 308 2 1% 4 H BT B AT Pao «Quo «Sao Fl Tio s

3-9 A — 380V = AHZ B, L4y 35 /LA PR I THUR S L, S S
SSkW, H i KA R IHLA 7. 5kW 1 & ,4kW 3 5.3kW 12 &, {435 7 & R B0k
A Z 3 KR A B AT Pao v Quo v Sao il o

3-10  HAImERRE S 6 220V FAT I i IkW 1 3 5.3kW i 2 &, A
FROMAC A0 & AR T 220/380V 2k b IR SR HAHSE AT Pao Qa0 v Sso Fl Tao o

3-11 B M TR A — & 630kVA A8 R 2%, H Tk M (380V) 1 A Ty 1 5 far Sy
A20kW, TCHI 1A 97 faf o4 350k Var, 2K it 48 B JT — WM CLOKV) 1 11 58 17 faf Bz H Ty R A
B R TPREBCRILE] 0.9, [n) AR BTG R BE 26 1 R 3% 15 22 KO B HL 2 2% 10 25 1 4 g
KB ER 2

3-12 B WA YR AT D 2400k W, DR N 0. 65, BLBLAE T A8 ML BT 10k V B
2 L3 BWE10. 5-30-1 BUJfF R A8 8% DR AR M 5 0. 9, TR R Z DA IFE A
BT B T IR AR LG % BRI S e o £ 7 L oA 4 1R R AE S5 B A ik
T L
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